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Question 1 — Find the compound interest on a sum of Rs 60,000 in 9
months at 40% per annum whepmterest compounde rterly.

92— 60,000 T 3T TRT T 40% Jf a9 T A 9 HEHT § Fshlg AT
FIGEASPEEERISELIGE R RERERIIS R RS

{ CT= 3’3“’/‘ %L 6@5%0# AcRs 19860
= 55O B.Rs 19160

= 198609, C.Rs 18860

D.Rs 15450
E. None of these
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Yo 14, -0 ) J-(-lo +F > Question 2- @20 ~0
T T SO

2y 2 -

X =Y or relation cant be established/
Geier TTfud et forar ST gehdr )
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ga Q%ﬁ EE A}uestion 3- @ 5 =0

5
6V2-234/3V +60 =0
(13 LAGAEE

30 o9
A X>Yy 3 |O<:2

(3 5J§,+/-3J§)

B. x <Yy 3@6\[ 5
C.x =y =
D.x <y d
LA&—X =y or relation cant be established/
weter T et foRam ST &eha 2
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Question 4-

Quantity I- A person sells an article at 30% discount then there is a
loss of 20%. The marked price 1s what percent more than the cost
price.

Quantity 4- After allowing a discount of 10% a person gains 25%.

The marked price 1s what percent more than the cost price.

94 7- Quantity I- Toh STeh Teh & 3l 30% BE L SI=IdT & dl 34
20% T BTH BIT 21 3iTeRd Jod, 35 o § fohe ST 377k &7
Quantity I1- 10% 31 < 3 o SI1& Teh Ak Sl 25% T ATH 1T 2

3ffohd 7o, 56 7o ¥ Toh TideTd 3R 82

https://t.me/mathbytarunsirmepl
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| @A Quantity I> Quantity II
[0 ;’,5 B.Quantity I < Quantity II
- C. Quantity I 2 Quantity II
'~’q D. Quantity I < Quantity II
E. Quantity I= Quantity II or relation cant be established/
wefer TTfird e et ST kAT 21 1

1= 2 (P LP mp
: g?s’ﬁr'oo IR (oS

1)
“li2gy sz , &

i ,
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Question 5 - A dishonest seller promises to sell his goods at 20% profit
and used 20% less weight. Find his profit percent.

T 5 - Weh SHT {shdT 379 HT ahl 20% AT U << ohT I1eT ShidT g 37T
20% HH IS hT IUANT HLdT B SHRT AT TSI FTd shifsTq|

|

A.11.11%

B.12.12%

C.40%%
—D-50%

E. None of these

https://t.me/mathbytarunsirmepl
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Question 6- Find the ratio between the compound interest on Rs 30,000 at
30% for 3 years and the simple interest on a sum of Rs 40,000 at 4.5% per
annum fo

T4 6- 30,000 F9F U 3 AN o TeAT 30% sl & E <Ashls AT 3N 4 99
foTT 4.5% i oy 3t T H 40,000 TG 3T TR G BT SATS o sf1=r AT

1 TSI A.1187:13
N CL< 69y B.1187:21

Nerd C.1187:24

1 KQY- 09430 6x3¢, D.1187:11
[ E.-None of these

= 194201
<= 3ty
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Question 7- A person bought two article P and Q. The cost price of article Q 1 is

@ore than cost price of article P. He sells first at 10% profit and other
article at 20% profit. If the difference between there profit is Rs 540 then find
cost price of first article?

T 7- Ueh Sqi<h < & IEE P 3R Q WIS & Q T 363 Ao & P o 5l Aod €
40% 3T 81 I8 T8 10% T T I 3= ] 20% ATH T =l 2l (S A1

STl T ST 540 9 €, 1 T8t o] o shdl Hod JTel 2hi 11|

A.Rs 1100
B.Rs 2100
C.Rs 3100
D.Rs 4100
https://t.me/mathbytarunsirmepl —E-None of these
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C]DP: S56X6 0 \ H=FSH
— %5_030 |= T30
j (P of P= foox3o

S ps
60 [Ho
g
\S

SP? ”OV%UOO
(o

|R0y. %{(Ho

I:\O'

R
=
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1-9@ '—(-5 ) g—) QO )-t)& I1~:(_> Question 8- X %-9x+18=0

y3-15 y2+56y=0

A.X>Y

B. x <Yy
C. X =2Y
D x <y

“£—X =y or relation cant be established/
et T e foRaT ST dehdT B
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The table given below shows the information about the number of male,

female and children who are living 1n different colony.

i &t 71 TfcTeRt | forfsi=t shictiHt # T aTet To, Higell 3R sl hl &1
SN U SRR fe@Ts 11 R




MISSION BANK-2024 ;231 <<% (3

Question 9- Find the sum of children in colony A to the number of female in

D.
T 9- AT A H == shl T&AT 3T D H HREATAT hl G&AT 1 hifSU)

A.196
B.116
LE296
D.326
E. None of these
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Question 9- Find the sum of children in colony A to the number of female in

D.
T 9- AT A H == shl T&AT 3T D H HREATAT hl G&AT 1 hifSU)

A.196
B.116
C.296
D.326
E. None of these
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Question 10- The number of children in colony B 1s what percent of total

male and female 1n C.
T 10- HIAHT B H S| sl €&AT, C H el To¥ SR ARAT 3 fehaT JTTd 72

A.43.33%

B. 44.44%

C.73.33%

D.83.33%
cE-one of these
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(]
- )
|=H3§

(M48) = (546)x 16

%gsw

)(IQQ 'é—ooa
4—3%

/21”

= AL
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Question 11- Total number of male in D is what percent less than the total

population of A.
T 11- D ¥ YN shl il HEAT, A ol el SHEEAT § fohe JTd 8 &2

oo

A.66.1%
B.44.1%
C.33.1%
D.56.1%
E. None of these




MISSION BANK-2024 e;23x 9 <X (i3

Question 12- Find the average number of children in A, C and D.

T 12- A, C 3T D H I3 hl 3THEd T&IT JTd I

A.114
B. 244
C.204
D.134
E. None of these
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Question 13- The number of male in colony E 1s 20% more than the total male |

and children in A. If the ratio between the male, female and children 1n colony
E 1s 12:7:6 then find the sum of children in E and female in B.
T 13- hictHT E H TeuT shi G, A H el To ST ST shl G&AT H 20% AT
21 TS HIAHT B H T, HigaT TR S o o= o1 ST 12:7:6 8, AT E H s
3T B H HIZATSTT ohT INT T hifSH )
A.500
B. 480
C.520
D.440
E. None of these
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Question 14- Ram and Shyam started a business by investing Rs y and y+1400.
After 40 months Shyam withdraw entire money and after 4 years the total profit
was Rs 16400 out of which share in profit of Shyam was Rs 3600 more than that of

Ram. Find the value of y.
T4 14- TH AWM Ty AR y + 1400 T 31 oI shieh Teh I I[E fohATl 40

WRIMI o SI1e TATH = X T fHehTeT fofam ST 4 |TeT SI1E el o1 16400 &0 o7, FSTeH 9§

TIATH 1 ATH H 66T TH 3hT TT H 3600 TR ST 91| y T JIH Hel b1 15|

A.Rs 1200

B.Rs 1400

C.Rs 1800
DRs 1600

E. None of these

https://t.me/mathbytarunsirmepl
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R

60% : Sél‘f 7:(7@0

S

Jxsge o (JHmo)hes

R’ ¢ o~ x | Y= 6H00( R P )
§ mig (= d+366 ., S@w‘”&ﬁﬂ: Glioot %0 o

&‘{‘ I+3600: ‘6LfOQ
2> D\&QQ

:(O(bo

6y _ Sw
S o
| +Fo00 2‘,295?
fﬁ%t:&g% [[Qoo

:Fb — ”Q?OQ@
= 1600
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